
Assembly and Operating 
Instructions

(EU)

Ri-Co Pro Set 
CONTROLLER

EN

DE

FR

RU

Technical description
Assembly and Operating Instructions

Ri-Co Pro Set controller

Technische Dokumentation
Montage und Bedienungsanleitung

Treiber Ri-Co Pro Set

Dossier technique
Notice de Montage et de Fonctionnement 

Contrôleur Ri-Co Pro Set

Техническая документация
Инструкция по монтажу и эксплуатации
Контроллер Ri-Co Pro Set

DA

Teknisk dokumentation
Monterings- og betjeningsvejledning

Ri-Co Pro Set styreenheden

SV

Teknisk dokumentation
Monterings och Funktions Instruktioner

Kontrollenheten Ri-Co Pro Set

NL

Technische documentatie
Montage- en gebruikershandleiding

De controller Ri-Co Pro Set

CS

Technická dokumentace
Návod k instalaci a obsluze

Ri-Co Pro Set řídící jednotka 

IT

Documentazione tecnica 
Istruzioni per l’Installazione e l’Uso

Il driver Ri-Co Pro Set



Assembly and Operating Instructions – Ri-Co Pro Set controller

IIiO/Ri-Co/09/2016/ID-95993  Technical Documentation2

1 1.1
1.2

1.3

1.1a

1.1c

MIDO DEXXO
METRO

BFT Tiziano

SOMMER
Duo Vision

3,5x13
3,5x13

O

M4x16

M4x16

Z1.1d

ZO

M4x10
M4

M4x10

M4

M4x10

M4

M4x10

M4

1.1b



Assembly and Operating Instructions – Ri-Co Pro Set controller

Technical Documentation  IIiO/Ri-Co/09/2016/ID-95993 3

1.2a

Z

Reed 1 Reed 2

VA

0

O

1.3a

Reed 1 Reed 2

VA

0

2.2a

Z
Reed 1 Reed 2

VA

0

O

Z2.1a

ZO

2
2.1

2.2

2.5

2.3

2.4



Assembly and Operating Instructions – Ri-Co Pro Set controller

IIiO/Ri-Co/09/2016/ID-95993  Technical Documentation4

2.2b 2.3a

Reed 1 Reed 2

VA

0

O

2.3b
O 2.4a



Assembly and Operating Instructions – Ri-Co Pro Set controller

Technical Documentation  IIiO/Ri-Co/09/2016/ID-95993 5

2.5a MIDO

2.5b

MIDO

02 ++ + -- -01 POW
IN

 1
IN

 2

Ri-Co

O

Z

MIDO



Assembly and Operating Instructions – Ri-Co Pro Set controller

IIiO/Ri-Co/09/2016/ID-95993  Technical Documentation6

2.5d

+-

DEXXO
METRO

24V DC START

12 13 16 17

O

Z

02 ++ + -- -01 POW

IN
 1

IN
 2

Ri-Co

DEXXO
METRO

DEXXO
METRO2.5c



Assembly and Operating Instructions – Ri-Co Pro Set controller

Technical Documentation  IIiO/Ri-Co/09/2016/ID-95993 7

2.5f

BFT Tizianio

COM

3 4

START

O

Z

02 ++ + -- -01 POW

IN
 1

IN
 2

Ri-Co
~24V

10 11

BFT Tiziano2.5e

BFT Tiziano



Assembly and Operating Instructions – Ri-Co Pro Set controller

IIiO/Ri-Co/09/2016/ID-95993  Technical Documentation8

2.5h

SOMMER Duo Vision

5 6

O

Z

02 ++ + -- -01 POW

IN
 1

IN
 2

Ri-Co+ -

24
V

G
N

D

9 10

SOMMER Duo Vision

SOMMER Duo Vision

2.5g



Assembly and Operating Instructions – Ri-Co Pro Set controller

Technical Documentation  IIiO/Ri-Co/09/2016/ID-95993 9



Assembly and Operating Instructions – Ri-Co Pro Set controller

IIiO/Ri-Co/09/2016/ID-95993  Technical Documentation10



Assembly and Operating Instructions – Ri-Co Pro Set controller

Technical Documentation  IIiO/Ri-Co/09/2016/ID-95993 11



IIiO/Ri-Co/09/2016/ID-95993/KTM-653S2020959931

Installer:

WIŚNIOWSKI Sp. z o.o. S.K.A.
PL 33-311 Wielogłowy 153

TEL. +48 18 44 77 111
FAX +48 18 44 77 110

www.wisniowski.pl
N = 49° 40’ 10”     E = 20° 41’ 12” 


